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Figure 1.  5 technologies to produce 100 meters of cloth
1. Looking at Figure 1, a profit maximizing capitalists would never choose technology A, B, or E. 
a. True or False
b. Why?
c. What assumptions did you make?
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Figure 2. the cost equation
2.  Solve the equation in Figure 2 so that it resembles 
3. Continuing with cost equation, suppose w=10 and p=20. 
a. What is the relative price of labor?
b. Derive the isocost line for the given prices when the cost = 60.
c. Derive the equations for the isocost lines when the cost=30 and cost=90.
d. Plot the three isocost lines on the graph below.
4. Repeat exercise 3 but let w=10 and p=5.
a. How do the isocost lines compare when p changed?
b. Why is the isocost line downward sloping? How do you interpret the negative slope?

[image: ]
5. Consider the growth of real wages as a measure of economic progress. How does it compare with growth of GDP per capita as a measure of economic progress?
6. Is private property necessary for technological progress to occur? Why?
7. How do markets encourage innovation? (Hint: think about this in terms of rewards and punishments)
8. How can production in firms, as opposed to within familial units, contribute to the growth of living standards?
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Making a decision about technology also requires economic information about relative
prices—the cost of hiring a worker relative to that of purchasing a tonne of coal. Intuitively,
the labour-intensive E-technology would be chosen if labour was very cheap relative to the
cost of coal; the energy-intensive A-technology would be preferable in a situation where coal
is relatively cheap. An economic model helps us be more precise than this.

### How does a firm evaluate the cost of production using different technologies?

The firm can calculate the cost of any combination of inputs that it might use by multiplying
the number of workers by the wage and the tonnes of coal by the price of coal. We use the
symbol $w$ for the wage, $L$ for the number of workers, $p$ for the price of coal and $R$
for the tonnes of coal:

cost = (wage x workers) + (price of a tonne of coal x number of tonnes)
=(wxL)+(pxR)

\begin{align*}

\tavt/rnefl R= \tavthinanaltimae\tavtiinnrkarel) + \tavt/nrica nf a tanna nf




image3.png




